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l. Text
Eny: — 3DvaH, AHywW, BawKepak KbiH en3a! Lbim waraT wyblH. Bawkbi3a!l
duaH: — KbiH enblHa, KbiH enblHa, aBan.
Eny: — LWyprbigam myuica Aa KoYKaw wuyca.
dyaH: - MWépa, dpa.
Eny: — JuaH, ycTembake noraiw NOALWO: KUHAbIM LY, COBIAM, KY3bIM AMAbINE.
Cepre: — Moua-Bnak, alicTa biHAe KOUKaLl LWMHYbIHA.
Eny: — Cepre, Tbl! MbIHAP LAraT/AaH Nawa roiy TonaT?
Cepre: — Mblili Taye BMU3bITAT NeblAaH Nawam NbiTapem.
Eny: — Tyrexe Tbl/i KacTeHe AHYLWbIM MoYacaz rbld Hal. MblnaHem 6UBAMOTEKbILW KanLl

Kynewl.

Cepre: — Wo6pa, Hanam. Hy, ioya-Bnak, amae ynbiaa?
duaH: - fimae, amae.
Eny: — Tyrexe, alicTa KaeHa.

/II. Vocabulary

aincra

bubanoteke
BalLKall (-em)
BM3bITaT NenblnaH
nopa

KaHbiMe Keue
KuHae

KouKaw (-am)
KY30

Kynauw (-am)

KblH'enaw (-am)
MYyLLKaL (-am)
MbIHApP WwaraTtnaH?
Hanauw (-am)

HY

nawia Kkeye

nene

norawu (-em)

(imperative particle, 1PI
/see lll.2d./)

library

to hurry, to rush
at 5:30 /see IV.4./
good, fine

day off; day of rest
bread

to eat

knife

to need; to be necessary;
to have to /see IV.3./

to get up

to wash

when? at what time?
to take; to buy; to get
well, so

workday, working day
half

to collect, to gather;
to assemble

nonwauw (-em)
nbiTapaw (-em)
cosna
yctembak(e)

yctembake
noraw (-em)

warat
WwrHYaw (-am)

wyaw (-am)

wynaw (-am)

WYbIH

wypré
blHAe
3p
apaeHe
amae

AaMmAabinail (-em)

to help

to finish, to end (tr.)
spoon

onto the table /see IV.5./

to set the table

hour; clock, watch
to sit down

to arrive, to come to;
to reach, to achieve

to cut, to slice

(simple past tense Il, 3Sg
wyauw (-am)): 7 warat
WwyblH. ‘It’s already seven
o’clock.’

face

now /see IV.6./
morning; early
in the morning
ready

to prepare

~
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Ill. Grammar

1. Verbal stem:

In order to be able to grasp the various forms of Mari verbs that will be introduced in the
course of the following lessons, it is necessary to have an understanding of the verbal stem,
since this verbal stem forms the basis of these forms. The two conjugations will be discussed
separately here.

Conjugation I: The verbal stem of first conjugation verbs is obtained by removing the infinitive
ending -aw.

Verb Verbal stem
Tonauw (-am) to come TON-
TyHemau (-am) to learn TYHEM-
nypauw (-am) to read nya-
Hanauw (-am) to take Han-

If the infinitive ends in -qw, the verbal stem ends in -i: auaw /lijas/ ‘to be; to become’ >
aut- /lij-/.

Automatic simplification of consonant clusters:

If the verbal stem of a first conjugation verb ends in one of the following four clusters, it is
automatically simplified if the verbal stem occurs a) in word-final or b) in syllable-final position
—i.e., when it is followed by a suffix starting in a consonant.

1. -km- > -K-

2. -WK- >-W-

3. -YK- >-y-

4. -HY- >-y-

Verb Verbal stem Simplified stem

Nektau (-am) to go JIEKT- Nek-
MyLLKaw (-am) to wash MYLLK- MyLL-
KouKaw (-am) to eat KOYK- Kou-
WwnHYaw (-am) to sit down LWWNHY- LnY-

Conjugation |l: The verbal stem of second conjugation verbs is obtained by removing the
infinitive ending -aw and adding o, e, or 6 in accordance with the rules of vowel harmony. The
stem is therefore at least disyllabic.

Verb Verbal stem
nnauw (-em) to live nne-
nbiTapaw (-em) to finish nbiTape-
TYHbIKTaW (-em) to teach TYHbIKTO-
KyTblpaw (-em) to speak KyTbIpO-
yaoauw (-em) to sow yao-

Consonant clusters are not simplified since due to the presence of the word-final vowels in
the stem (-e/-0/-6) they are not in word-final position.
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2. Imperative:
Verbs in Mari have special imperative forms, both positive and negative, in the second and

third persons singular and plural. (For notes on the first person plural, see below.) In this
lesson the formation of the positive /non-negated/ imperative in the second person, singular
and plural, will be discussed.

a) Imperative — second person singular:

Conjugation I:
In most cases, the imperative second person singular is identical to the verbal stem.
Verb Verbal stem Imperative 2Sg
Tonauw (-am) TON- TON
TyHemaul (-am) TyHEeM- TyHeM
nypaw (-am) nya- nya,
Hanaw (-am) Han- Han

As this puts the stem in the word-final position, the automatic simplification rules discussed

above apply.
Verb Verbal stem Imperative 2Sg
nektauw (-am) NEKT- neK
MyLIKaw (-am) MYLLK- My LU
KouyKaw (-am) KOYK- KoM
WwrHYaw (-am) WNHY- wmy

The first conjugation verb so3aw ‘to lie down; to fall’ has the verbal stem 803-, but is 8oy in
the imperative second person singular. This is due to the shift of 3 > y in the syllable-final

position, see point 5 in the introduction, page 38.

Conjugation ll:

In most cases the imperative second person singular is identical to the verbal stem in this

conjugation class as well.

Verb Verbal stem Imperative 2Sg
nnauw (-em) nne- une
nbiTapail (-em) nbiTape- nbiTape
TyHbIKTaLW (-em) TYHbIKTO- TYHbIKTO
KyTbipaw (-em) KyTbIpO- KYTbIpO
yaaw (-em) yao- yao

In two cases the imperative is not always identical to the verbal stem:

1) If the verbal stem ends in -yo, the final -0 is usually, but not obligatorily, deleted in the
imperative second person singular, e.g., nyaw ‘to give’ > verbal stem nyo- > imperative ny
(myo). 2) A number of frequently used verbs with stems ending in /-je/, /-jo/, and /-j6/ have
alternative forms in the imperative with or without the final vowel: kaaw /kajas/ ‘to go’ >
verbal stem kae /kaje/ > imperative kae ~ kal, nyaw ‘to shoot’ > verbal stem ayiié >
imperative ayio ~ ayd.
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b) Imperative —second person plural: In both conjugations the imperative forms of the second
person plural are formed by adding a suffix to the verbal stem. In the first conjugation this
suffix is -3a or -ca; in the second conjugation, only -3a. The vowel a in these endings is never
stressed.

Conjugation I: To form the second person plural form, the suffix form -3a is added to stems
ending in vowels or the consonants 0, 21, m, H, H, and p. After all other consonants the suffix

form -ca is used.

Verb Verbal stem Imperative 2Pl
Tonauw (-am) TON- TOoN3a
TyHemau (-am) TYyHEeM- TyHem3a
Hanauw (-am) Han- Han3a
Kyaawau (-am) Kyaal- Kyaaulca
KowTaw (-am) KOLWT- KowTca
noyaw (-am) nou- noyca
yKauw (-am) VK- yrKca
nypau (-am) nya- nyaca

As the verbal stem is in syllable-final position (i.e., is followed by a consonant), consonant
clusters are automatically simplified and the suffix variant is always -ca in these cases.

Verb Simplified stem Imperative 2PI
nektauw (-am) Nek- NeKkca
MyLUKaw (-am) My LL- MyLica
KouKaw (-am) KOu- Kouca
WwnHYaw (-am) LInY- lmyca

Also note so3zaw (-am) ‘to lie down; to fall’ > verbal stem 6oy > imperative second person

plural souca.

Conjugation II: To form the second person plural form -3a is added to the verbal stem, the

final vowel -e/-0/-6 becoming -61 before the suffix.

Verb Verbal stem Imp. 2PI
unauw (-em) nne- U EE)
nbiTapaw (-em) nbiTape- nbiTapbi3a
TYHbIKTaW (-em) TYHbIKTO- TYHbIKTbI3a
KyTbipaw (-em) KyTbIpO- KyTbIpbi3a
yoaw (-em) yo0- yabisa
nyau (-am) nyo- nybi3a

In the case of second conjugation verbs with verbal stems ending in /-je/, /-jo/ or /-j6/, which
have two variants in the imperative second person singular (as discussed above), the stem is
not shortened in the second person plural: kaaw (kaem) > imperative second person singular
kae /kaje/ ~ kali, imperative second person plural kalii3a.

Stress in_imperative forms: Attention must be paid to the proper stressing of imperative
forms. The only rule in addition to the usual stress patterns is the non-stressing of the final a
in the imperative forms of the second person plural (-ca, -3a): myHemaw ‘to learn’” >
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myHemam, myHem — myHem3a; neimapaw ‘to finish’ > noimapem, neimape — nbimapesi3a;
go3aw ‘to write’ > so3em, 8030 — 803bi3a; AMObIAawW ‘to prepare’ > Amoblaem, AmMOblae —
AMObINbI3a; myHbikKmaw ‘to teach’ > myHbIkmem, myHbIKMO — MyHbIKMbI3A.

c) Imperative — first person plural (positive): In the first person plural the imperative form is
formally identical with the indicative form:

(Me) kaeHa. We are going. KaeHa! Let’s go!
(Me) KouKblIHa. We are eating. KoukbiHa! | Let’s eat!

d) Imperative particles: Verbs in the imperative mood are often preceded by the imperative
particles alioa and alicma that give a milder, more inviting tone to the statement. The particle
alioa can be used in the second person singular, first person plural, and second person plural.
In contrast, aticma can only be used in the first person plural, and here only when at least two
people apart from the speaker are being addressed — or when addressing one person with
whom one generally uses the formal me. This means that in the second person (singular and
plural), only atida is used.

2Sg Kan! Ainpa kait!
1PI Kaena! Aiina kaeHa! Alicta kaeHa!
2Pl Kaibiza! Aiiga kaibizal

3. Comparative form of adjectives and adverbs:
The comparative form of adjectives and adverbs is formed with the stressed suffix -pak. If it
is added to a stem ending in an unstressed -e/-0/-6, the final vowel becomes b1.

Positive Comparative
camn good campak better
MOTOP beautiful moToppaKk | more beautiful
LIYKO much, many WYKbIpaK | more
BallKe quickly, quick BalWkKepaK | more quickly, quicker

IV. Words and word usage

1. ycmembak(e) ‘onto the table’:
This form is actually a fusion of ycmesn ‘table’ and the postposition ymbake ‘onto’.
Postpositions of this type will be discussed in lesson 16 (page 208).

2. noawaw ‘to help’:
The verb noawauw (-em) ‘to help’ governs the dative case.

Cepre, Mmbl1am NMaluam blliTaLl nowo! Serge, help me work!
9MMa, MblIaHHA MapuUi bIMbIM TyHEMaLU
noswo!

Emma, help us learn Mari!

3. Constructions with kyaaw (-am):
Two constructions with the first conjugation verb kjsaaw are commonly used.

a) kynaw = ‘to need’: Whatever is needed is in the nominative case, whereas the person or
thing needing something is in the dative, and the verb kjaaw agrees in person and number
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with what is needed. This construction is, in other words, more similar to the uncommon
‘Something is needful to me’ than to the usual ‘I need something’.

MByKNaH KHUra Kyaew. Ivuk needs a book.
MBYK, AHYK, TbilaHAA MO KyneLu? Ivuk, Anuk, what do you need?

Note that if whatever is needed is in the plural, kyaaw must also be in the plural:

| TYHbIKTbILWIO-B/IaK KY/bIT. Teachers are needed.

b) kynaw = ‘should, must’: In this impersonal construction the verb kysaw appears only in the
third person singular along with an infinitive. The person or object that has to do something
is in the dative case.

NBYK ppaHLy3 NbiMbIM TYyHemell. TyanaH
dpaHuy3na WyKo nyaaw aa KyTbipaL

KyneLwl.
Moya-BnaknaH ypoKbiM bilLTaLl KyneLu. The children have to do homework.

Ivuk is learning French. He should read and
speak French a lot.

4. Telling time:
In answer to MeiHAp x#can? or MeiHAp wazam? ‘What time is it?’ the following constructions

can be used. Note the usage of -am ‘and’ (connected to the long form of numerals), nene
‘half’, ebiy ‘from; after’, mapme ‘until’, kooeiH ‘has remained’, as well as the suffix -de
‘without’, which is always stressed. The a.m./p.m. system is not used, but in accordance with
European customs one can specify if one means a certain time in the morning (3p) or in the
evening (Kac). In case of possible confusion the 24-hour system can be employed.

Kanpaw warar. (It’s) eight o’clock.

Kanpgaw warar ap. (It’s) eight a.m.

Kanpaw warart Kac. (It’s) eight p.m.

Kya waratat (KyabitaT) ny4ko (natsmy) (It's) a quarter after six.
MWHYT.

KyabiTaT (Ky4 warataT) nene. (It’s) half past six.

JIy4KO MUHYT rbly Ny WwaraT veL.

Jly warat mapTe Y4KO MUHYT (KOAbIH). (It’s) a quarter to ten.

Jlyuko (natBuy) muHyTAE Ny.

NaTKoK warart. KeubiBan. (It’s) twelve o’clock. (It’s) noon.
J1aTKOK wwaraT (K010 HblA warar). (It’s) twelve o’clock midnight
Nennya. (It’s) midnight.

5. Dative in temporal expressions:
The dative case is often used in temporal constructions.

a) The dative case can be equivalent to the English ‘at’: meiHAp wazamaanH? ‘at what time?’,
woeiM wazamam nesnsinad ‘at seven thirty’.

Wbim waratnax ton! Come at seven o’clock!
LWbim waraTaTt neablaaH KbiH'ensa. Get up at seven thirty.
Jly MMHYTAe HbIA WaraTaaH Tonam. | will come at ten to four.
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b) The dative case can express limits of time.

Kym KeybliaH o/1all Kaem. | am going to the city for three days.
MK Keybla1aH nawa work for one day
Kacnan amabine! Prepare it (have it ready) by evening.

6.0a, a, deH ‘and’:

All three words can be used to express ‘and’, but cannot always be used interchangeably. The
word deH is used to connect two nouns or pronouns and emphasizes that they somehow
belong together: Eny deH Cepee ‘Yelu and Serge (Serge together with Yelu)’, mapuli deH
sameoixce ‘husband and wife (his wife together with a husband)’.

The word da, when used in a similar construction, signifies a looser connection: aemobyc da
mpamealti ‘bus and tram’, uzdep da eye ‘sled and skis’. This conjunction also connects verbs
or clauses with one another: Mebili monam 0a ypokeim biwumem ‘I will come and do
homework’.

The conjunction a has a contrasting nature; it can also be translated as ‘but’: Meili kaem, a
meoili mosaam ‘I am going, and/but you are coming’.

7. KbI3blm, bIHOe ‘now’:

The word kbi3eim emphasizes that something is happening at this very moment: Meidi
KbI3bim KHu2am syoam. ‘I’'m reading a book (right) now.” The word si1HOe is used when one
wishes to compare the current situation with a past one: bIHOe mbili mudsim ymoinem. ‘|
understand this now.’

V. Exercises

1. Form the imperative forms (second person singular and plural) from the following verbs:

a) First conjugation verbs: TyHemal, KowTaw, Tonal, Ayaall, yall, KbiH enad,
KOYKaLL, MYLLKALL, WWHYaL, Wwynal, Hanawl

b) Second conjugation verbs: unau, biWwTal, TyHbIKTALL, KYyTbipall, KafAll, Ke/lwall,
ByyYall, noraii, no/wadl, NbiTapat

2. Form the appropriate imperative forms in the second person plural.

1) 7 (wbIM) warat wyblH. 34aH, KbiH'en. Cawa ageH AHyu, ... !
2) SfAHow BeHrp yHa. Mblli TyabiM YcTen aeke yxkam: AHOLW, KoyKall wuny!
AHow peH KaTannH BEHrp yHa-BNAK Y/bIT.
Mblih HYHbIM YcTen aeke yxam: AHow, KaTtanuH, ycten geke ... |
3) Cepre, Mbl1am Naliam biwTaw nosawo!
Cepre ga 34aH, Mblnam nawam biwTaw ... !
4) 3yaH, ypoKeTbiM amabine! Moua-Bnak, ypokaam ... !
5) Eny, MbinaHem *rasetbiM *KMOCKbIWTO Han!
Moua-BnakK, MbinaHem raserbim ... !

* 2a3em ‘newspaper’, kuock ‘kiosk’
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3. Put the verbs in parentheses into the imperative, second person singular, or if required by
context, the second person plural.

1) BawkKepak (Tonaw).

2) SpaeHe 7 (wbim) waratnaH (KoiH enaw).

3) Bawkepak wypretbim (MyLUKaL).

4) KuHapim (wynaw), coBnam, Ky3bim (amablnai).
5) KouKauw (WwunHyaLw).

6) IpKbIH (KaAw).

7) KaHngaw warat mapTe (Kogalu).

8) VYpokeTbim *caliblH (blwTaL).

9) KacteHe memHam (Byyaw).

10) MblnaHem Mapuii MbIIMbIM TyHEMALL (noaLwaw).
11) AHyw, 34aH, ypokgam (biwTaLl).

12) *KuHoTeaTpbiwTe caih *KMHO KaAa. KNHOWKO (KaALw).
13) YHam ycten aeke (yxau).

14) *TeKcTbim (nypaww).

15) Mbinam KHuram (*nyaw).

* caliviH ‘well’ (adverb formed from cali), kuHomeamp ‘movie theater’, kuno ‘movie theater;
movie’, mekcm ‘text’, nyaw (-am) ‘to give’

4. Answer the following questions using the times in parentheses.

1) Kbi3bIT mbiHAp warat? (four o’clock)

2) Tobl MblHAP WaraTaaH nawaw Kaet? (8:30)

3) TobIM MblHAp WaraTaaH nawa roiy Tonat? (6:30)

4) TbliA MbIHAP WaraTaaH Tyabim Bydet? (midnight)

5) Te mbiHAp waratnaH KbiH enbiga? (6 o’clock)

6) Te mblHAp WaraTiaH KMHOLW Kaeaa? (at 7 o’clock)

7) Te mblHApP WaraTiaH 3paeHe Koykblga? (at ten to seven)
8) Tyano mbiHAp WaraTaaH nawam nbitapa? (at 5 o’clock)

9) HyHOo MbIHAp WaraTnhaH *Teatpbiw Kaat? (at 8 o’clock)

* meamp ‘theater’
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5. Read the following dialogues and then replace the italicized words three times using the
words below.

—  *Anno, TMae AHyw mo?

—  Mbit ynam. *Canam nuike!

—  Canam nuitke, AHyww. Tuae MoisaH. Taue KUHOW KaeT?

—  MbIHAp waraTtnhan?

—  Kydeimam nenvinaH.

—  Wépa. Kydsimam ayyko *MuHymaaH meMHaH geke Ton. *MKksepeLl KaeHa.
— Tonam, By4o. YesepbiH.

—  YesepblH.

1) Teatp—7:00-6:30.
2) 6ubnnoteke —9:15 - 9:00.
3) *koHdepeHumit —10:00 —9:30

* anno ‘hello (telephone)’, canam ‘hello’, munym ‘minute’, ukeepew ‘together’, koHppeperHyuii
‘conference’

6. Use the words in italics in the comparative in the following sentences.

1) Mbi sawke Tonam. ... Ton!

2) OnawrTe unauw cadi. A *anbiwte — ... .

3) HwHaH KHUraxe wyko yno. A ONOKbIH — ... .
4) MeTAH BaTbiXKe new Mmomop. A §abIpKO — ... .

* an ‘village; countryside’

7. Read the following dialogues and then rewrite each of them twice using the words given.

a) —  WUBYyK, TblnaHeT mo Kynew?
—  MblnaHem KHura Kyneww.
—  KHurat *wopnblKbIWTO, Han.

b) —  WUBYK, AHYK, TbilaHAA MO Kynew?
—  MblnaHHa KHUra Kyneww.
—  KHuraga wopnbikblwTo, HaN3a.

1) raset > *cymka
2) *pyuka, *kapaHgal > *neHan

* wopnoik ‘shelf’, cymka ‘bag’, pyyka ‘pen’, kapandaw ‘pencil’, neHan ‘pencil case’

8. Answer the following questions.

1) SppaeHe TbinaT MOM biwTaw Kynew? (get up at six o’clock)

2) Mawawke TbllaHAA MbIHAP LWaraTaaH Kaaw Kynew? (at 7:30)

3) VYpoKbiMm biwTaw KéAaH noawaw Kynew? (my daughter)

4) *3pna TblNaHeT MbIHAP WaraTaaH KblH enaw Kynew? (at five o’clock)

* spna ‘tomorrow’
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9. Insert the appropriate infinitives into the sentences: noeaw, Koykaw, Kaauw, KoiH enauw,
noaAwaw, siwumau.

1) 3Spna me anbiw KaeHa. MblnaHHa apaeHe 6 (Ky4) waraTnaH ... Kynew.
2) Tuae nawam BalwKepak ... Kynewl.
3) *MockKo rbiy *noesg, 8 (kaHaaw) waratat 20 (K0N0) MUHYTAAH
Tonew. *Bok3anbiWw ... KyneL.
4) Tauye CanaeBMbIT A€K YHA-BNAK TO/bIT.
HyHblnaH yctembake ... Kynew.
5) WKbiMmwe *KnaccbiwTe MoYa-BAAKAAH YPOKbIM bilTaLW ... KyaeL.

* Mocko ‘Moscow’, noe30 ‘train’, sok3an ‘train station’, kaacc ‘class’

10. Answer the following questions about the text Spdere.

1) SuaH aeH AHyW 3paeHe MbIHAP WaraT/iaH KbiH enbIT?
2) 3SppaeHe Movya-BAaAK MOM bilITAT?

3) Cepre MbIHAp LWAraT/aH natia rbiy Tonew?

4) AHyWbIM MoYacag roiv KO Hanew?

5) EnynaH KacTeHe Kyl Kaaw Kynew?

11. Complete the following text using the verbs given in the appropriate form. (wynauw,
MYWKAW, WUHYAW, KAAW, Kaaw, rnoaaw, KeiH eaaw, ayoaul, biumdu, aMoblaall, moaaul)

dpaeHe Boabip 6:30 (Kya waratat nenbinanx) ..., *3apagksim ..., *Bapa *BaHHbIMbILW ...
Aa WYPrbiXKbIM ... . 7:00 (Wwbim waratnax) yctembake ... , KWHAbIM ... , COBNAM, K{3bIM
... , Bapa KoyKaw ... . 8:00 (kaHgaw waraTnaH) Ty4o nawaltke ... . Mawa reiv Béapip
19:00 (natMHaew waratnaH) ... . KacteHe Tya0 raseTbiM Aa KHUTaM ... .

* 3apadke ‘physical exercises, calisthenics’, sapa ‘then’, sanHwbili ‘bathroom’

12. Complete the following dialogue with the proper forms of the following words: cosna,
wynaw (-am), keiH’enaw (-am) 2x, Koukaw (-am), noawaw (-em), wypao, Ky30.

—3prbim, ... ! 7:30 (Wwbim warataT nene) WyblH.

— ..., asail. Nopo ap nuitxke!

—Mopo 3p, aprbim, ... MywWw aa yctembake norau ... .
— Mom blwTall, asan?

— KuHAgbIim ..., ..., ... AMAblae.

— N6pa, aBaii.

— blHae, ailaa ... WKHYbIHA.
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13. Put the nouns and pronouns in parentheses into the proper case.

SpaeHe mbit 7 (warat) KblH enam. (LLUypré) mywkam ga Koykaw wuH4Yam. *Bapa (raser)
Hanam ga nsunw nyaam. (Mblii) nanbime *KypHanuctem new can (*cratba) *Bo3sa. (Maser)
Wwyko *oHalt *matepuwan yno. *Jlygwo-snakat (rasert) *Typnd matepuanbim BO3arT.
*MyTnaH, (Mblit) MBaHOBbIH *cepbllwbiKe Mew Kenwa. Tyao TYHbIKTbIWbIH Mallax
*HepreH Bo3a. 8.30 mbili (Nawa) kKaem. (Mawa) mbii *ape *ihonbiH KowTam.

* sapa ‘then’, cmames ‘article, essay’, sozaw (-em) ‘to write’, oHal ‘interesting’, mamepuan
‘material’, nydwo ‘reader’, mypné ‘different, diverse’, mymnar ‘for example’, cepoiw ‘letter’,
HepzeH ‘about, on’, ape ‘always’, lionsbiH ‘on foot’

14. What is the time of day indicated in the following six pictures?

15. Write down the dictation.



